Previous Year Paper
Haryana (History)

PGT 10 Sept, 2023 Shift 2




10.
1.

HS9

3
Eé 78 wliEoT IRkt
CFE  w @ @
8 5& d% FHTET A
2 S|/ Do not
Eé open this test

booklet until
you are asked

to do so.

ey B % e 91, o g8 wlierr gt Ht
S 999 BT o 6 399 Hr2 fae wn, wer ar g
BT YRS STLaT WS, oMfE A B ) afs v &, o 38w
e GRa! o Faw W

HUET A 1@ 6 OMR {96 H, 3fd H T,
T T, ThEm O A S A, B, C A1 D HiT s
qfesT i I A H U e el 9% an fagnia &
T 3T ez & ot freiard) gufear & 21 fFh
i Wbt &t Ieb/faemfa & feafa § ST o a5
faamn s

7 w{tervr gitae a3 e g 0 Heed § s s
ST T & | e gt 9T 3 F8 [ fad

L1 T [ 1]

za gfverr it # 100 weist (999) R g ¥ 1w
% are Yot (faeea) fau mo ¥ | o us & Io & =
¥ A B, CAIDH  ga8 3ugad famed ! siferd &Y
& A9 U§ & IO & 61 qTEd & af 'E' H aifehd
w1 afE uig F A H1F 0 g9 sifea 7 fran e, @
TH—HT4TE (0.25) 37 w12 R @R

afz T Al 10% & i vyl § v fawedi § |4 A
W faeren 3TRFA T 1 € A SHE ST WA SRR
A WA & T T A ¥ | W e OF A5F F: A
TeIT T IO 3 {0 O 4T (0.25) 37 FE1 A0
MU O T IE e B fin T sE-me W
1 aifhd & ¥ To-uEe A iy 1o Py 3
THT-UE ¥ AT &1 % o Fret/are 9w gz T #
WETT &L

T e o6 oy wiiaror qiae % fata= nedia %
YT FT{-9aS T SAfehed BT 9JE B, DI L~
TF % Y UG SRl 6 SEr F feem -
o H 3 E |

TEET & FHIGT U7 OMR U5 @i Je@d Wi afiY sata
(T} wfer ST eitaTh Bt | 3| 7! ThE ghaa
% |1a OMR @i ervaedl afa & F &1 ST 21
Hed P & foQ Tere Tterv gk & of J dam 2
vl % argare W T arereen e frafd &, oftsit wentor
w1 & oifer 3 R

Wi g S
Test Booklet Series

0]

HS-9

oA <= & i Few
HYAF R AR
Zedl 9 91 9o
FLI/

Flease read the
instructions given
below carefully
and follow them.

qiteent o gl &I T /
Number of Pages in Booklet

32

gftaeT % vt @ dwr /
No. of Questions in Booklet

100

u % / Maximum Marks

100

w79 / Time 2 =% / Hours

1.
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OR TORN OR MISSING PAGES OR ITEMS, ETC. IF
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1  The caste assigned to a child born of a anuloma marriage :
(A) Same as that of the mother
(B} Same as that of the father
(C) different than that of the two parents
(D) even lower than the caste of mother
(E) Question not attempted
™ foaw ¥ s waE w0 3 T ek
(A) =T & THH
(B) fuar & awH
(C) =i wrr-far @ fa=r
(D) dmr & wifa & o F=
(E) argaie we

2 Which of the following statement is correct regarding the economy of Harappan
Civilisation?
(A) During the Harappan Civilisation Economic life of the people was very poor.
(B) During Harappan Civilisation only internal trade was carried out.
(C) Pictures of ships, boats have also been found on seals that throw light on Harappan
contacts in far-off places.
(D) Iran was the trading outpost of Harappans with other civilastions.
(E} Question not attempted
BSWT GRIAT Bl Adsaan % "@ay o refaigd § 9 ®F o wU9 qer £ 7
(A) T29 WA & CF AN B AHE G 89 @S AT
(B) 2wl 9¥ar & SI0H had STdith AT gian ol
(C) qE0 W werh, T % R o R ¥ o I e A T gua 9t wan s E
(D) TN 370 |aiel & T SSUETdl & AT bl 4Tl
(E) orgafd us

3 While Purushasukta of the Rig Veda mentions the origin of the Chatur-varna system for
the first time, one another Vedic text repeats the same theory. Which was that text?
(A) Atharva Veda (B) Satapatha Brahmana
(C) Brihadaranyaka Upanishad (D) Chandogya Upanishad
(E} Question not attempted
Tt FTIE % TETEH § UEH! G aqL-—avl STeRdT Bl Swi B Iwid 8, U o dfgs WIS I8
frgia @ ST ¥1 9 e BA-an ar?

(A) rudas (B) wawd SR
(C) geartvad IuivR (D) wiery 3ufug
(E) srgafd v
HS-9 2 P.T.O.
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4  The Six Great Cities mentioned in the early Buddhist texts include :

i.  Pataliputra ii. Champa

1. Vaisali iv. Rajagriha

v.  Varanasi vi. Kausambi
vii. Sravasti viil. Indraprastha

ix. Kusinagara

ﬁﬁﬁ@ﬁﬁﬁ@ﬁﬁ'@ﬂ%%?ﬁg?“

i.  urRfags i, =

iii.  Jorme iv. TeE

v. gy vi. ereriEr

vii. el viil. ggue

ix. I

Choose the answer from the codes below :

(A) 1, 1L, v, Vi, VI, IX (B) i, 11, v, vi, vii, viil
(C)} 1. 1ii, iv, vi, vil, ix (D) ii, iv, v, vi, vii, ix

(E) Question not attempted / 3= 757

5  The earliest epigraphic reference to "Visti’ of forced labour is found in the :
(A) Nanaghat inscription of Naganika (B) Hathigumpha inscription of Kharavela
(C) Junagarh inscription of Ashoka (D) Junagarh inscription of Rudradaman I
(E) Question not attempted
T (forced) 79 &% ‘fa&ll & WHMGH fvedE ge4 ¥ a2
(A) =miieT & TR e (B) @@« &1 TR frera
(C) 19T &1 FAFTE fiTemerE (D) TEE9A WoW & JATTS NERE
(E) oM@Rd e

6  When were the silkworms introduced into the Byzantine empire from China, adversely
affecting India’s already declining foreign trade?

19 & diel BT O ¥ diarted aErer | wa aEn T, FEY 9 & ged 9 2 ged fagslh s

T YiaHe THTT ST ¢
(A) AD 451 (B) AD 551
(C) AD 651 (D) AD 351

(E) Question not attempted / Gﬁﬁﬁ‘d EES]

3 Harshavardhana was the author of :

I Harshacharita 1.  Ratnavali

iii. Nagananda iv. Priyvadarsika
wuee fhad wws o7

i. evaid ii.  TEdl

i, APIE iv. firmafie

Select the answer from the codes given below :

A fEu o HEE ¥ IO & 999 sl

(A) 1, 1i, iii (B) i, iii, 1v
{(C) i ii, iv (D) i, iil. iv
(E) Question not attempted / SgaRd us

HS-9 3 P.T.O.
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8  Who among the following Delhi Sultans were born to Hindu mothers?

1. Alahuddin Khalji . Nasiruddin Khusrau
iii.  Balban iv. GiyasuddinTughlag
v.  Firoz Tughluq vi. Sikander Lodi
Choose the correct answer from the options given below :

(A) All of them (B) i1 & iv only

(Cy i, iv, v & vi (D) i,ii, v & vi

(E} Question not attempted

et et geamit & § A foeg TGl & da T A7

i.  amedE faes ii. THEER gad
iii. s wET iv. TOgEA gEd
v. feg=t GUGED vi. fawet @er
e fou mo fawed & @ w8 39 g

(A) =& i (B) % ii ofiT iv
(C) i, iv. v afrT vi (D) i, ii, v 3T vi

(E) orgaiid us

9 Allauddin did :

i.  Reduce the prices of various essential commodities and established separate markets
for those goods.

ii. Reduce land revenue demand of the state by eliminating all middle men.
ii.  Cancelled several types of land grants such as Inams, Wagqfs, etc.
iv. Reduce the state’s share of the war booty to 20% trom 80%
Prohibit matrimonial alliances among nobles without his prior permission.
aﬁﬂt@'—r q fepam:
i. Tafw=1 smaead aged B Fwdl B F9 e 3T o gl & g s 9 it e
ii. T Tl & 9 w1 B T A4 B FH fwan)
iii. % UBT F g oFEEl S¥ 3AM, 99 onfe & T HT feEm)
iv. g& qZ 4 U &1 80% @ wemt 20% feun
v. sudl gd sgafa & fam oat & 9w dafis meas w Os)
Choose the correct answer from the codes given below :
(A) i il & iii (B) i, i & iv
(Cy i, iii & v (D) i,iv&yv
(E) Question not attempted / &afid 95

HS-9 4 P.T.O.
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10  Who among the following were saints of the Nirghuna School?

11

HS-9

i.  Dadu Dayal 1i.
. Raidas v
v.  Sundaradas Vi.
freioraa & o ®F v s & 99 97

. 2§ T il
iii. Em iv.
v. HaEd Vi.

Nanak
Kabir
Dharanidas

Al

HAN
TS

Select the correct answer trom the codes given below :

A fEu U HiEE | 98 IO @ 999 Bl
(A) i, ii, iii & iv

(C) 1i,1i, iv, v & vi

(E) Question not attempted / Sgaid us

(By i, ni, iv& v
(D) All of them /& &+t

Match List I and List II and choose the correct answer from the options given below the

lists :
List 1 List II

1. Itimad-ud-daula’s tomb P. Influence of Buddhist Vihara in its

construction

2. Humayun’s tomb Q. First use of white marble by Mughals

3. Akbar’s tomb R. Forerunner of Taj Mahal

4.  Tomb of Aurangzeb S.  Aurangabad

g 1 ol gt 11 o gifer e ol gfrat & 99 Ry 1 Rl @ wd sae gRo
| = 1

I, zfrie-3e-3mn @1 e P 3@ fmm ¥ dg fer & o

2. BAY &I wHAU Q. Tl &R Hhe THT Bl QYA Gur

3.  HDBG{ Bl HBI R. dHe« &1 #Hugd

4. TG B AEAA S. afremErE

Codes / fa&e :

(A) 1-Q. 2-R, 3-8, 4-P (B) 1-R, 2-Q, 3-S. 4-P

(C)y 1-Q. 2-R, 3-P. 4-S
(E) Question not attempted / Wﬁﬂ EEL

(D) 1-R, 2-Q, 3-P, 4-S

P.T.O.
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12

13

HS-9

The teachings of Kabir and Nanak were almost similar except in two respects. What are

those two?

i.  Hindu-Muslim unity.

ii.  Great stress on the purity of character and conduct as the first condition to reach
God.

iii. Condemnation of caste and creed distinctions.

iv. Need for guru guidance.

HAN T AFd Bl 5120 3 Amel & Bieend arwT gad off | F o w1 27
i feg-gRe owan

i, WEE % Ygad Fl uedl 9k & &Y A 9 Sl ey @1 ufdsar 9 9gd @il
i, W ofT g9y we @t fer

iv. 76 ArE @ aTasasar B

Select the correct answer from the options given below :

Jr fou o famedt # @ WE SO H 99 B

(A) i &ii (B) ii & iv

(C) i & iii (D) iii & iv

(E) Question not attempted / ST 957

Alberuni in his Kitab-ul Hind had particularly appreciated the Indians for a very high
degree of proficiency in :

(A) Exchanging and communicating their knowledge.

(B} Raising a powerful business class.

(C) Construction of tanks and reservoirs at holy places.

(D) Miniature paintings.

(E) Question not attempted

AAgEA A o9l Rpag—ed-fEa W fady wu @ widi ) ydivar @ |gd o< fE1l &
foro warEsn @ e

(A) &9 3 &1 AGH-YEH A HER S|

(B) T SifoRiemell EEEl @ Wt @R B

(C) ufax =T 9T ammsl it sensar &1 Fmion

(D) g fr

(C) srgaid 9o

6 PT.0.

Page 6



14 Which code gives the correct pairing of the following lists?

15

HS-9

List I
1. Establishment of Imperial and Provincial Legislative a.

Councils
2 Introduction of Competitive examination, the ICS b.
3. Appointment of a Secretary of State for India G,
4. Introduction of Communal electorates d.
M W He Pl g B @@ A 27

i 1
I, o ofrT widr feaem aftudt & s a.
2. wREr whEr & ey, ey b.
3. E % e e i @ P c.
4.  gruEIgE EEd g5 @& 9iEd d.
Codes filﬁ%'ﬂ
(A) 1l-c, 2-a, 3-b, 4-d (B) 1-b, 2-a, 3-¢, 4-d
(C) 1-b, 2-d, 3-a. 4-c (D) 1-a, 2-c, 3-b, 4-d
(E)} Question not attempted / ST 79

List 11
Act of 1853

Act of [858
Act of 1861
Act of 1909

w11
1853 &1 arfufay

1858 @1 artafras
1861 @1ttty
1909 &1 arfufs

Match the following books with their authors and select the answer from the options
given below.

List I

List T1

1.  History of Indian Munity P. GB. Mallison
2. A History of the Sepoy War in India Q. Sir J.W. Kaye
3. Indian Munity R. S.N. Sen
4, The Sepoy Revolt, Its Causes and its Consequences S.  H. Mead
5.  Eighteen Fifty Seven T. T.R. Holmes
fr=fefad geet Bl S w@al % 1Y gHidd Sife T 9 feu 1o faeedt § St g
T 1 T 1
1. «eE g @ osfew P. e Ao
2. ¥a ¥ faudl gz @ gfoem Q. ®{ W =Y
3. WA R R. ©aud. @9
4. Taurdl fagie, 396 @O0 & g9d ufomd S. ua W
5. H3E udiEA T. e @
Codes / ®HIZF :
(A) P-5.Q-2. R-1, S-4, T-3 (B) P-2, Q-1, R4, S-3. T-5
(C) P-1, Q-4, R-3, S-5, T-2 (D) P-4, O-3, B-5, 52, T-1
(E) Question not attempted / afd 987
7 PT.O.
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16 Which codes gives the correct pairing of the following lists?

List I List II

Leaders Tribal Revolts
1. Buddho Jagat a. Khond Revolt of 1846-48
2. Alluri Sitarama Raju b. Kol Revolt of 1831-32
3. Chakra Bisayi ¢. Kacha Naga Revolt of 1882
4.  Sambhudan d. Koya Revolt of 1922-24
HE-1 g Frefatga girEt & 98 g gan & 7

= 1 w11

eoll A fEE
1. & s a. 1846-48 %1 @iz fugie
2. el | T b. 1831-32 & Hw T
3. O famd c. 1882 @ ®@n M faEE
4.  wYEH d.  1922-24 = ®rn e
Codes / ®=ZH :
(A) A-2, B-4, C-1, D-3 (B} A-1. B-4, C-3. D-2
(C) A8, B2 €51, D3 (D) A-3.B-1, C-2. D4

(E) Question not attempted / 31 957

17 Arrange the following in the historical sequence :
Escape of Subhash Chandra Bose from India.
Celebration of the “Deliverance Day™ by the Muslim League.
Resignation of the Congress Ministers.

2
3
4.  Lahore Resolution of the League demanding separate state of Muslims.
S

Quit India Resolution of the Congress.
FrfeRad ®1 Tfaetas ®9 3 aradg s
1. 9@ & g9 9% 919 B U |
2. giew W gra SR fE| @ A
3. iUa 9EEl w1 SEw
4,  THAAE! % AT TG B AT B G AT BT AR Ghed |
5. | @ 9a BiE ¥ |
Choose the answer from the options below
A R T R & et T
(A) 3.4, 2,1 &5 (B 3.1.2,4 &5
(C) 3,24, 1&5 (D) 3,4.1,2&5
(E) Question not attempted / Sgafa qs

HS-9 8
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18

19

20

HS-9

Who said “The Congress movement was neither inspired by the people. nor devised or
planned by them™?

(A) Lala Lajpat Rai (B) Sir Syed Ahmad Khan

(C) Lord Curzon (D) Lord Dufterin

(E} Question not attempted

fopoe weT e, “HIUE AEIWA T dr @l 9 Ui em, F E 398 g A @ FEifya feer
ur

(A) T wedd T (B) €Y @ug E9e @H
(C) wis el (D) @iE =wiE
(E) orafa 9

The States Reorganization Commission. 1953 was formed under the Chairmanship and
the membership of :

(A) Chairman : Fazal Ali: Members : HN. Kunzru, K.M. Panikkar

(B) Chairman : Jawaharlal Nehru; Members : Vallabhbhai Patel, Pattabhi Sitaramayya
(C) Chairman : S.K. Dhar; Members : J.N. Lal. Panna Lal

(D) Chairman : Dr. B.R. Ambedkar; Members : K.M. Munshi. B.N. Rau

(E) Question not attempted

T gTfed o, 1953 & Seagal ofT Hewaa & dgd nfed fepan wan )

(A) A9 : G O 9 © TAUA. §OiE, H.0H. TRt

(B) o1md : TARIAW "5%; UEH . IedWHE USW, TSI draree

(C) ormd : Ua.%. UR; TEE : W.UA. @, T

(D) oreaw : =i LA, Ay R k.M. 49, dud ud

(E) &gaia usT

Assertion (A) : Dayanand Saraswati was the first to use the word ‘Swaraj’.
Reason (R) : He was the first to demand complete independence for India.
(A) Both Assertion “A’ and Reason ‘R’ are correct and ‘R’ justifies or explains ‘A’.
(B) Both "A’ and "R" are correct, but "R" does not justify or explain A’

(C) “A’is correct but ‘R’ is wrong.

(D) ‘A’ is wrong but ‘R’ is correct.

(E) Question not attempted

SAHBYT : AT GEEA 7 999 W WS 9 B0 W fear o)

B : g WA & [0 qui wsAar 1 | B 9 ved Al o)

(A) BT ‘A’ ST FO R IAN WE ¥ it R’ A’ B TEN SEAA ¥ AT GHHT B
(B) ‘A afr ‘R’ Ff 9l &, @b ‘R* “A’ &1 aiifaey an =rem 8 & &

(C) ‘A @& & @fet ‘R’ 7o %)

(D) ‘A’ Tad & @feT ‘R @1 ¥

(E) orafea ged

9 PT.0.
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21

22

23

HS-9

Assertion (A) : Excavations of the “UR’ city revels the complete picture of the
Mesopotamian city states.

Reason (R) : It was mainly divided into three divisions: the sacred area. the walled city,
the outer town.

(A) Both Assertion “A’ and Reason ‘R’ are correct and “R’ justifies or explains *A’.
(B} Both ‘A’ and ‘R” are correct, but ‘R” does not justify or explain A’

(C) “A’ is correct but ‘R’ is wrong.

(D) “A’is wrong but ‘R’ is correct.

(E)Y Question not attempted

AR (A) : QAT 98T D1 GaTs HEEiHar % sied) Tt B Qi qudR Bl gern w2
F0 (R) : T8 &7 9 & dF 9rN A fowta o ofes &, 9 S 9 9w, and gl
(A) &I ‘A’ 3T HCO R’ AT 881 & 3T ‘R’ ‘A’ &l 981 g4 & a1 GHHAT 2|

(B) ‘A’ 3R ‘R’ =i wél &, @i ‘R’ ‘A’ &1 afifaen an =amen =8 &an ¥

(C) A\ ¥ AfpT ‘R* 7T ¥

(D) ‘A Tad & kT ‘R’ @1 &1

(E) orgaia ue

Match the following Greek Gods with their duties :

1. Zeus - a. God of the Sea

2. Poseidon - b. God of wine

3.  Apollo - ¢.  God of the sky

4,  Dionysus d.  Sun God.
W&%W%ﬁﬁﬁmﬁﬁlﬂsmﬂgﬂrﬁﬁﬁm

1. <ireH a. WIE % @l

2, UEERE . b. R &

3. aramE . c. BN B AT

4. A - d ¥

Choose the answer trom the codes below :

A fo T wRE @ g

(A) 1-c¢,2-a,3-d,4-bD (B) 1-a,2-b,3-¢.4-4d
(Cy 1-b,2-¢,3-2a.4-4d D) 1-¢,2-b,3- d1 —a

(E) Question not attempted / 3= 787

Which Italian city-state was ruled by the powerful Medici family during the Renaissance

period?
(A) Rome (B) B. Milan
(C) Naples (D) Florence

(E) Question not attempted

AR I & 2 e g2 sied-tey uy sifeastelt AfsE afErt & oo ant

(A) T (B) & fire
(C) +ue" (D) wr"
(E) orgafd v
10 P.T.O.
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24

25

26

27

28

HS-9

In 15 to 19" century which imperial power controlled most of the Caribbean?
(A) England (B) Spain

(C) France (D) Germany

(E) Question not attempted

158 A 1991 qrawd ® foom qrrTar s 7 Sifaes & sifestsr amm @ Fifsa fear?
(A) 3z (B) @@=

(C) wi™ (D) S (E) erafa 9sd

What was Lorcha Arrow?

(A) Famous Harbour in China

(B} Treaty between China and England
(C) Chinese owned Hong Kong registered ship
(D) Russian Ship

(E} Question not attempted

@ U (Lorcha Arrow) @@T &7

(A) 9 ¥ ufg B

(B) 9 @it §rai® & 919 |fy

(C) o1 w@rHa AT SRR Usiigd STeTe
(D) =& s==

(E) rgafea ae

Who gave the slogan "LET A HUNDRED FLOWERS BLOSSOM™ and “LET A
HUNDRED SCHOOLS OF THOUGHT CONTEND”?

(A) Prof. Ming (B} MinChuan

(C) Dr. Yenan (D) Mao Tse-Tung

(E} Question not attempted

‘W T ¥3T TEH wEd A U2 U EES el A% i ®ies | @ A fee famm ard

(A) 9. fim (B) Prgem

(C) =1 T (D) =TT ®—gT (E) &afta usd
Who participated as Japanese delegate in Paris Peace Conference of 1919?

(A) Akihito (B) Sikoni Matshida

(C) Matsui Keisheiro (D) Hirohito

(E} Question not attempted

1919 % f@ yifq o § S Wi & &9 & e amn o e e

(A) wfenfear (B) fharEr wiferar

(C) =g H§ra (D) fefear (E) arafta usa
Who among the following is considered to be the founder of the mahajanapada ot Magadha?
(A) Brahmadatta (B) Palaka

(C) Jarasandha (D) Mahasena

(E) Question not attempted

frafafaa & & 68 w19 % WETSHIE H GRS AT W 7

(A) &R (B) uws

(C)y woEyg (D) =EEAT (E) aaia usH

11 PT.0.
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29

30

31

32

33
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Which one of the tollowing events of Buddha's life did not take place on a full moon

day?
(A) Birth (B) Death
(C) Enlightenment (D) Renunciation

(E} Question not attempted
g8 & S &1 FrEfatgd § 4 SE-8 g2 g & T @l el e

(A) W (B) 79X

(C) oo (D) = (E) ergar wsd
The concept of Eight-fold path forms the theme of :

(A) Dipavamsa (B) Divyavadana

(C) Mahaparinirvan Sutta (D) Dharma Chakra Pravartana Sutta

(E) Question not attempted
=i WAt Sy ergEmren e fawe (theme) =T 2 7

(A) radsr (B) TamEsE

(C) wemrtF@m ga (D) ov 9% waed gd

(E) o e

Which one of the following was NOT a part of early Jaina literature?
(A) Therigatha {(B) Acarangsutra

(C) Sutrakritanga (D) Brihatkapasutra

(E) Question not attempted
frfeafad & & #F o1 URYE 99 e B AR TEE a1t

(A) &l (B) smariT

(C) HFpam (D) g

(E) orgaiea 9e

Shwetambar Agama was finally edited at the Jain council of :
(A) Pava (B) Patliputra

(C) Vaishali (D) Vallabhi

(E) Question not attempted

JIAIET SN HT fqd: 3 IIug § Wued fRan T Am

(A) uran (B) wrefergs

(C) dorrelt (D) aeerHl (E) orafa wsd

Which major rock edict of Ashoka clearly stressed the importance of efficient organization
of administration?

(A) First (B) Fourth

(C) Sixth (D) Eighth

(E) Question not attempted

3l % fp wa e o W ®9 ¥ 99T % HIW WeA & "9ee 9 Wi fan?

(A) uEd (B) =&
(C) B3 (D) amed
(E) argafed g
12 P.T.O.
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3

36

37

38

HS-9

Which one of the following books of ancient India has the love story of the son of the
founder of Sunga dynasty?

(A) Swapnavasavadatta (B) Malavikagnimitra

(C) Meghadoota (D) Ratnavali

(E} Question not attempted

yrEH wa % fFrafafed & & fem wg § o 991 & denus & 93 @ 99 wEEr 27

(A) TWEaEeRd (B) wrafaamififie
(C) Tega (D) el

(E) orFaia ues

The silver coins issued by the Guptas were called :

(A) Rupaka (B) Karshapana
(C) Dinara (D) Pana

(E)} Question not attempted

ﬂ?ﬁmﬁﬁﬁgﬁfﬁﬁmﬁ&

(A) &% (B) o

(C) Rema (D) ur

(E) omara 9sd

Who among the following rulers brought about the fall of Sayyid brothers?
(A) Rafi-ud-daula (B) Mohammad Shah

(C) Jahandar Shah (D) Farrukhsiyar

(E) Question not attempted
frefofaa & & fee smas 3 &wom dgaff &1 gad san?

(A) THI-I3-Trem (B) #ie™E 9%

(C) WelRR e (D) w&afqat

(E) orafea e

The revenue system among the following is also known as the bandobast system :
(A) Zabti (B) Batai

(C) Nasaq (D) Kankut

(E) Question not attempted
frefafga & @ fFg T T w SErEe wene & &9 F off W S

(A) =Edr (B) =2i§

(C) o= (D) ®ze

(E) orafed wed

Where did the so called “Black Hole Tragedy’ take place?
(A) Murshidabad (B) Dacca

(C) Monghyr (D) Calcutta

(E) Question not attempted
dJarefad ‘e Bl el Fel ufed g3 i

(A) Fféwram (B) e
(C) T (Monghyr) (D) e
(E) argfed s
13 P.T.O.
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39

40

41

42

43

HS-9

Who founded the Amrit Bazar Patrika?

(A) Sisir Kumar Ghosh (B) Girish Chandra Ghosh
(C) Harish Chandra Mukherji (D) S. N. Banerji

(E) Question not attempted

39 ST OBl @l Woar feee @t 417

(A) Tl A = (B) firfisr = @iy

(C) #he1 @2 qait (D) TH.UA. §6i (E) eraft@ asq
Which of the following act infroduced a *Separate Electorate for Muslims™?

(A) Indian Council Act of 1892 (B) Indian Councils Act of 1909

(C) Government of India Act 1919 (D) Government of India Act 1935

(E)} Question not attempted
friafiad & @ foe afufam 1 qaeam & o gus Fares dea@ @ e @1 7

(A) 9 uhwg afufre 1892 (B) Wi uitwg arftar=m 1909
(C) “mE gt Afafram 1919 (D) A T afatEm 1935
(E) orgaia wed

Industrial Revolution began in England with the invention of :

(A) Steam Engine (B) Telephone

(C) Railways (D) Telescope

(E) Question not attempted
FvE ¥ effEifies wifa @ yieera fhud enfawst | &% 7

(A) 9 g4 (B) HTBM

(©) T (D) i (B) orgafe we
During the Tokugawa period, the highest class was :

(A) Farmers (B) Samurai

(C) Land Lords (D) Merchants

(E) Question not attempted
A w A g a4
(A) feam (B) ®9T®

(C) e (D) =Ty (E) orafe wed

Which of the following were the earliest precursors of Harappan seals?
(A) Terracotta seals found at Mehargarh

(B} Stone seals found at Amri

(C) Clay tablets found at Kalibangan

(D) Copper tablets found at Kot Diji

(E) Question not attempted

Preafefiad & & #A-9 gewd ged & T99 QWA gt ¥ ?
(A) wEUR 7 el S @ gef

(B) a7l ® il weax @1 el

(C) @i % firelt et &1 iferai

(D) e a1 o fielr aig @ mivat

(E) orgaiea ged

14
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44 Match List I with List I and select the answer from the codes given below the lists:

List I
1. Battle of Samel

2. Battle of Bilgram
3. Battle of Ghagara

4, Battle of Khanwa

P.

Q.
R

S.
T.

List 11

Deteat of Afghans under Ibrahim Lodi
by Babur

Defeat of Rajputs under Rana Sanga by
Babur

Deteat of Afghans under Mahmud Lodi
by Babur

Final defeat of Humayun By Sher Shah
Defeat of Rajputs under Maldeo of
Marwasr by Sher Shah

Tt [ &r gen 11 @ gafaa #ifwe ofr gfeal & e e 1w gz & 39t giu

LUl
1. w99 & g=
2. Taeum # 4=
3. uEU W YE

4, @ B TE

Codes / ®i=q :
(A) I-T, 2-S, 3-R, 4-Q
(C) 1-R, 2-T, 3-S. 4-Q

B

H RO

& 11

IEY & A el & i SETE b

BT

e g U G S Tgal @1 e

II9Y &1 HEHE wial & ST HETHE! &l 71T

IRIE ERT TR @ oifm B

gsmmwﬁmﬁaéﬁﬁuﬁlﬁ
K

(B) 1-S, 2-R, 3-Q, 4-P
D) 140, 2:P, 3-T, 4R

(E) Question not attempted / S aid 997

45 The Dockyard at Lothal, is well connected through a channel to the river :
(B) Bhima

(A) Narmada

(C) Bhogava (D) Tapti

(E} Question not attempted

A | TS T Y UH T b WEIH W I dE A S0 EA B
(A) T (B) m

(C) (D) =it

(E) orgafed ueT

46 The Supa Sastra is a text on the sciences of :

(A) Agriculture

(C) Cooking

(E) Question not attempted
U 9 fose oY % U §
(A) PfH @&

(C) FHfHT &war &

(E) wrgafd vs

HS-9

(B) Horticulture
(D) Metallurgy

(B) =@ @
(D) =g fasm @

13

P.T.O.
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47

48

49

50

HS-9

Which one of the four Vedas makes a clear reference to Rishabha and Arishtanemi, the
jaina tirthankaras?

(A) Rig Veda (B) Sama Veda

(C) Yajur Veda (D) Atharva Veda

(E) Question not attempted

AT AG F A B T o et Fuw ot afteT @1 W IwE wear & 7

(A) F= (B) wmeR

(C) = (D) sryeEE

(E) omafa wsd

The Magadhan ruler who is said to have shifted the capital from Rajgir to Pataliputra :
(A) Udayin (B) Kakavarin

(C) Chandragupta (D) Bimbisara

(E) Question not attempted
% HUY SES FAGH TS Bl TAN § uefags @it wman o

(A) TFTA (B) wepar
(C) w=ma (D) fafterare
(E) oand "

The correct sequence of the following experiments of Muhammad Tughluq :
i.  Enhancement of land revenue to 50 percent in the Doab area

ii.  Establishment of a separate department of agriculture

1. Introduction to token currency

iv. Transfer of capital from Delhi to Daulatabad

v.  Appointment of a new set of revenue officers

HEWE JTAh & EeRad WA o gE) e e &7

i e &9 § y-Tee ° 50 ukiea #r ghE

. PN % UH @ eI A e

iii. 2@ g w1 A

iv. TSGE @ el d daaEE § e

v, UerE AfueiEl & us AU geE 6l gl

Select the answer from the options given below :

A R T Rl @ ST B T9E BT

(A) v, ii, i, iv and iii (B) iii, ii, v. iv and i

(C) v, iii, 1, ii and v (D) iv. i, v, ii and iii

(E) Question not attempted / S=E 957

Which bhakti saint developed different modes of religious emotionalism such as vatsalya,
dasya, sakhya and madhuriya?

(A) Nanak (B) Kabir

(C) Chaitanya (D) Mira

(E) Question not attempted

fee wiRT G o arde, T, g Sl Ay S8 aiffe wigsar & fafe edl @l et

fopam 7

(A) TH® (B) &dR
(C) == (D) #rei
(E) orgafd ges

16 P.T.O.
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51

52

53

54

HS-9

The meaning of the sufi concept known as tark-e-duniya :

(A) The enlightened world (B) The tolerant world
(C) The renunciation of the world (D) The unity of the being
(E) Question not attempted

TH-U-gFrET & B H AR AW AR GH SEUTW H A ¢

(A) W& g (B) wfewy ghman

(C) gFmn = @m (D) &9 @I b (E) orafa ws
Who among the following Rajputs were the first to voluntarily submit to Akbar?
(A) Hadas (B) Sisodias

(C) Rathors (D) Kachchhawahas

(E)} Question not attempted

frefefes Torgal o & Reeq 9e9 gee WESt ¥ omay @ Tl Wi & ¢

(A) &= (B) g

(C) T (D) wezare (B) ergafta 9sq

Assertion (A) : During the reign of Shah Jahan, Dara Shikoh was sent on expedition to

Balkha, Badakhshan and Kandhar.

Reason (R) : The expedition sent by Shah Jahan to the Middle-East was a marvellous

SUCCCSS.

(A) Both *Assertion’ {A) and *Reason’ (R) are correct and ‘Reason’ (R) is the correct
explanation for Assertion.

(B} Both “Assertion” (A) and ‘Reason’ (R) are correct but *Reason’ (R) is not the correct
explanation for Assertion..

(C)y “Assertion’ {A) is correct but *Reason’ (R) is incorrect.

(D) “Assertion’ {A) is incorrect but ‘Reason” (R) is correct.

(E) Question not attempted

afgpes (A) : qmewiEl & SnEHGE & e, T fies @ gawn, gEEn ok U & afe

T WS T AT

B0 (R) : MESTEl gRT HeA-qd § S W afeae um argd Qe 4

(A) ‘sipgs (A) ST ‘®or (R) =4 @81 & o @mwr (R) afwesas @t wer =amen &1

(B) ‘arfyees (A) it ‘@reer (R) @1 wd € afe ‘aror (R) saifuses &t ad) saren =87 )

(C) ‘ofsas’ (A) W8I & with ‘& (R) e 2|

(D) ‘@I (A) Tad & afeT ‘s (R) @E #)

(E) srgana us

The Frenchman who visited India six times during the reign of Shah Jahan and Aurangzeb
and wrote his accounts of India in his work ‘Six Voyages :

(A) Tavernier (B) Manucci

(C) Thevenot (D) Bernier

(E) Question not attempted

I8 WEE fTET sesTel ofit S & yeee ¥ 8% a0 WIE # A R aft st B
‘T e § W &1 e foan ¢

(A) FafaT (B) =

(C) &= (D) sffat (E) orgara usa

17 PT.0.

Page 17



35

56

57

HS-9

With reference to the period of colonial rule in India, “Home Charges™ formed an
important part of drain of wealth from India. Which of the following funds constituted
“Home Charges™?

P.  Funds used to support the India Office in London.

Q. Funds used to pay salaries and pensions of British personnel engaged in India.
R. Funds used for waging wars outside India by the British.

Select the correct answer using the codes given below :

(A) P only (B) P and Q only

(C) Q and R only (D) P.Qand R

(E) Question not attempted

qred ® Saiafye smEA (colonial rule) @Y el & ded &, B 9l WA @ 49 @ e
H1 UFh Aedqur fewn om frefafaa & & g %2 7 “gm 9wl fea fear?

P T ¥ 9 SEEd 1 9HdS i 6 WU s e T 6E)

Q. wra W = fufewr &l & Jaw ofit Yom @1 A & & fag gwah e ws)
R. oSl 10 9T % 98¢ 9@ 984 & [0 wgad o1

W fau T wEE @ g w9 e gy

(A) ®ad P (B) ®aw@ P 3t Q
(C) %aw Q 3T R (D) P, Q st R
(E) oranta ued

With regard to “Delhi Sultanate’ period, which of the following is incorrect?

(A) Muslim society remained divided into ethnic and racial groups.

(B) The intermarriages between Turks, Iranians, Afghans and Indian Muslims were
common.

(C) The caste restrictions did not close social intercourse between the Muslims and the
upper caste Hindus and the Shudras.

(D) The local machinery of administration remained almost entirely in the hand of the
Hindus.

(E) Question not attempted

Tewell T w@ & Hay ¥ frefafed § § @F-T AT 22

(A) Fiew a1 A T T qEl J d@e @

(B) Tq@, UGG, WA ST WIXd™ qaanHi & 49 siaraas qme 9

(C) gﬁﬁﬁ%wﬁﬁmﬁ%%@aﬁﬁwﬁﬁﬂmm&ﬁ

|
(D) wema= @1 wyE weieh wa gl a @ figet & ey § @

(E) orfaia ued

Adi Shankaracharya established four Mathas. These mathas are situated at :

(A) Badrinath, Dwarka, Puri, Sringeri  (B) Sringeri, Dwarka, Badrinath, Prayag
(C) Dwarka, Badrinath, Prayag, Sringeri (D) Puri, Sringeri, Dwarka, Varanasi
(E)} Question not attempted

e yiRramds 4 Wi @ Tmear & o6 4 93 au7 fam ¥

(A) TqEF, ER@, g, S (B) =7y, g, SR, war
(C) EI®I, S8/, 99r, il (D) g&t, =57, gree, arord
(E) argaRd wsw
18 P.T.O.
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58

59

60

61

HS-9

Mughal architecture is a happy blending of :

(A) Turkish and Persian styles (B) Turkish and Afghan styles
(C) Persian and Indian styles (D) Timurid and Indian styles
(E) Question not attempted

WA WY bl [hadl gEs aiagv g 7

(A) & ot wredr Aferar (B) Tl ot e fiferai
(C) wredr it Wi St (D) 0 ot Wi st
(E) oqafa usT

Arrange the following Nawabs in chronological sequence.

i.  Alivardi Khan 1.  Nazam - ud — daula
iii.  Sarfaraz Khan iv. Siraj — ud - daula

v.  Shuja — ud — din

Choose the answer from the codes given below :

(A) v, 1. ii, iv and iii (B) w, iii, i, iv and ii
(C) 1, v. iv, ili and ii (D) i, iv, v, 1i and iii
(E)} Question not attempted

frfofiad Tavet &1 HEEpAgarT Farad B

I ofelleEl @ i, AH—3g-Sel

i, TS @H iv. fare-se-dmn

v.  QE-gE-dH

9 faw o W F T A

(A) v, i, ii, iv 30 iii (B) v, iii, i, iv 90T ii

(C) i, v, iv, iii 37T ii (D) i.iv, v, ii T iii (E) egmf@ wsd
Sir Charles Wood. who drafted the education despatch of 1854, was the then :

{A) Secretary of State for India (B) President of the court of directors

(C) President of the Board of control (D) Prime minister of England

(E)} Question not attempted

gt g g, faeid 1854 & ueghy fsdm & AHer quR fear, 39 aud of
(A) 9 & T o wrg (B) HE 3% SOLaY % oTeme

(C) Trus €15 & arcay (D) $ave & yuE #=t (B) sigaia usd

Warren Hastings experiment of auctioning the right to collect revenue to the highest
bidder is almost similar to :

(A) Poligar system of Vijayanagara empire

(B) Igta system of Delhi sultans

(C) Jagir system of the Mughals

(D) ljara system of the Mughals

(E) Question not attempted

ITIdH dieil T ITel I ToTe THsl i o HATHDIT I AIGTHT BT AT SH2T8 TG T
% T E

(A) Tasra=rme amET HF GErT Jorer (B) fuealt % geaml & a0 qommel
(C) 7l 1 P e (D) Tl @ IS wOE

(E) aqafa usT

19 P.T.O.
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62 Which code gives the correct pairing of the following lists?

List I List 11
i Poona Seva Sadan a. HN Kunzru
ii.  Social Service League b.  Shri Ram Bajpai
iili. Seva Samiti ¢.  NM joshi
iv.  Seva Samiti Boy Scouts Association d. GK Gokhale
v.  Servants of India Society e. Mrs Ramabai Ranade

A W @ Prefaiad qiw @ @ A9 a3
i 1 w1

B SRE a.  TACA furE

i, HEWT O W b. & T Iy

iii.  oar affa c. UFum wsf

iv. ¥ iy sr7 weew uHitguyE d. i e

v, Hdzg e I wEmEd e. dmdl TER R

(A) i-c. ii-d, iii-b, iv-e, v-a (B) i-e, ii-c, iii-a, iv-b. v-d
(C) i-a. ii-e. iii-d, iv-c, v-b (D) i-b, ii-a, iii-c. iv-d, v-e

(E) Question not attempted / JIgard ve

63 Match List I with List TT and select the answer using the codes given below.
List I List 11
Died Fighting the British at Gwalior
Died in his ancestral home due to injuries
Murdered by Raja of Puwain
iv. Maulavi Ahmadullah Escaped to Nepal
Rani Laxmibai Died Fighting the British in Awadh

@lﬁ@llﬁ@mﬁqﬁ%mwmwmmmﬁl
Gl T 1

i.  Kunwar Singh
ii. Nana Saheb
iii. Bakht Khan

o ppe oW

i.  gatE a,  TiwET A U9l § @ed §Y YRR §U
il. S wR b. @il & & s dg% oY W WY MY
i, a1 @ c.  Gad & T BN "L MY
iv. HrrEr srEHge d. AU 9 ™
v. T wedEr e. oy ¥ T ¥ Wed gU 9ERE @ T
(A) i-d, 1u-e, iiil-a, iv-c, v-b (B) i-a, ii-c, iii-d. 1v-b, v-¢
(C) i-b, ii-d, iii-e, iv-c, v-a (D) i-¢, ii-d, iii-b, iv-a, v-&
(E) Question not attempted / Gﬂ?ﬁ?r EES
HS-9 20 PT.O.
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64 Ram Singh :
i.  became the leader of the Kukas in 1860.
ii. appointed subas and naib-subas to organise the sect in different parts of Punjab.
ii.  recruited a large number of jats as member of his sect.
iv. imparted military training to his followers.
v.  died in 1885 at Ludhiana.
Select the correct answer from the codes given below :

(A) 1, ii and iv (B) i, ii and v
(C) 1, iii and iv (D) ii. iv and v
(E} Question not attempted

™ 43

i 1860 & gl w1 Fan 541
i, ueg ¥ fafa=r art § dwer @ @nfsa e & fau g9 ot ey fgw e
lii. S "@E ¥ Sl @ AU WURE %6 9@ &b w9 W 9l fhan)
iv. SO SruiREl s S ufirerer fan
1885 % gitrar 4 g 3|

:ﬁ%ﬁqwaﬁwﬁﬂﬁwzﬂmaﬁ
(A) i, ii ot iv (B) i, ii afx v
(C) i, iii 3T iv (D) ii, iv &fT v

(E) oafa usT

65 The extremist method of “passive resistance™ did not include :
I, Refusal to co-operate with the government.
ii.  Sending petitions to the government.
. Bovcott of government service, courts, schools and colleges.
iv. Refusal to pay rents to the Zamindars.
Choose the answers from the codes given below :
(A) Only ii (B) ii and ii
(C) Only iv (D) ii and iv
(E) Question not attempted
“Tftpg gfetry” @t ToTdsl wely § enfae e o
i, W b WY G H ¥ IBR B
ii.  H@ & sl Jen
i, G HaT, e, Tpal T dHicisll B AL
iv. THIET B @I 39 E T B
I fiu Mo BEw T I F I B
(A) e ii (B) ii @ ii
(C) &ad iv (D) ii 8T iv
(E) orgafta wev

HS-9 21 P.T.O.
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66

67

68

69

HS-9

Assertion : Gandhi's technique of Satyagraha was based on the twin concepts of truth
(Satva) and non- violence (Ahimsa).

Reason : The literal meaning of Satyagraha is holding on to truth,

(A) ‘“Assertion’ 1s correct, but *Reason’ i1s wrong.

(B) ‘Assertion’ is wrong, but ‘Reason’ is correct.

(C) ‘Assertion’ and *Reason’ are correct, and "Reason’ explains ‘Assertion’.

(D) Both “Assertion’ and ‘Reason’ are correct, but “Reason’ does not explain ‘Assertion.’
(E) Question not attempted

ATHHAT : T B TAWE B ThIh T ST ABH DN FSAT TS TT ST AT
B : FAWE &1 e 1 77 7 Rd @& 2

(A) ‘@y @d %, e ‘Brew e #1

(B) FUT A &, WihT BN T 2

(C) ‘wu 3T &y gey ¥, ofiT ‘&, ‘HYUa B ATE B £

(D) ‘@ T BT T W E, Wihd B BUT Pl e e Hal &)

(E) sgaRd wed

‘Mixed Economy’ was envisaged for the first time in the :
(A) Preamble of the 1950 Constitution (B) First Five Year Plan

(C) Second Five Year Plan (D) Bombay Plan

(E) Question not attempted

‘i erderaer @1 af@erT gl 910 o F TS ey
(A) 1950 & G # waEar (B) wud u=edig gien
(C) zall daedi s (D) €= FieET

(E) argaid us

The Roman emperor, who consolidated the rise of Provincial classes so as to exclude the
senators from military command, was :

(A) Augustus (B) Constantine

(C) Tiberius (D) Gallienus

(E)} Question not attempted

T waTe, fiee Wi a1 & a9 @1 SHied fhan die S B 9 HAW d R A o
b, o :

(A) siT=d (B) wieerd
(C) fedfmm (D) Wferama
(E) sigafed vs
A form of writing developed by the people of Sumer, is :
(A) Civilization (B) City-state
(C) Cuneiform (D) Mesopotamia
(E) Question not attempted
U & At F0 o Jeq & % w5 2l
(A) wwgdr (B) sgi-tg
(C) wafrr (D) #EreIfE
(E) orgaiea ued

22 P.T.O.
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70

71

72

73

HS-9

The citv—state Sparta laid emphasis on :

(A) Athletic and Militaristic values (B) Democratic institutions
(C)y Temple worship (D) Trade and commerce
(E)} Question not attempted

AT ®E (Sparta) 3 6 T 5w fem?

(A) = X = 7@ (B) wipaits T
(C) #Hfax gam (D) =M &t afr
(E) oqafa usT

Which series of events is in the right chronological order?
(A) Peloponnesian War, Greek Golden Age, Persian Wars
(B) Persian Wars, Greek Golden Age, Peloponnesian War
(C) Persian Wars, Peloponnesian War, Greek Golden Age
(D) Greek Golden Age, Peloponnesian War, Persian Wars
(Ey Question not attempted

TRl I b Al @ GEN BRITIHES HH H &7

(A) YRR g8, e @V g, BE 98

(B) wIedl Tm, W% @Yl g, GAdAEET 98

(C) wrd g, YadnieE g, Mie @l g

(D) % @t T, EHREE OE, BE 6

(E) orafa wsa

The Mongols were defeated by the Egyptian army because :
(A) the Mongol army was less equipped.

(B) Mongol rulers began to take more interest in China.
(C) Mongol were less developed.

(D) None of these

(E) Question not attempted

firg @ @1 9wl @1 At e waife

(A) i@ 81 %W gared 4

(B) e omad 91 # aHfas s @ @ 9

(C) #me &9 fawad 41

(D) 3 & % T

(E) orafta wed

The Mongolian and Chinese narratives on Genghis Khan were translated as The Secret

History of the Mongols by :
(A) Boris Yakovlevich Vladimirtsov (B) Marco Polo

(C) Vasily Vladimirovich Bartold (D) Lgoe de Rachewittz
(E) Question not attempted
i @ 9T Hiterdrs ST S wanalt & ergare Wil & 9 Zfaere % w0 H FALIR |
T 4T
(A) FNH AT e (B) Rl i
(C) oHfieh =fediifea sl (D) @ig & wfaea
(B) srgafe uew
23 P.T.0.
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Fief is :

(A) Someone who steals (B) A musical instrument
(C) Another name of knight (D) A picce of land

(E) Question not attempted

WT (fief) =W & 7

(A) &1 o 9l e B (B) & s

(C) @mHd (knight) &1 38T 94 (D) 4qff &1 Twer

(E) &R usH

Emphasis on Humanism (man’s concern with himself as an object of contemplation} was
the chief characteristics of which period?

(A) The Restoration period (B) The Puritan Age

(C) The Renaissance Period (D) None of these

(E) Question not attempted

weEarE 9y ST (faE @ g & w9 A " & @ 6 @y a0en) B s A wge fadar
S 1

(A) erell oafy (B) aftz g

(C) =TT i (D) T & ®i¢

(E) orfafed usd

Who controls and regulates trade in a mercantilist economy?

(A) The individual citizens (B) Only tax payers

(C)y The voters (D) The Government (Mother Country)

(E) Question not attempted
A srderarar § AR ® dW ko fatwta s g0

(A) AR AFS (B) &ad HIIE

(C) wd=Tr (D) 9@ (Ag 291)

(E) orfafa gsd

After World War II. Japan was occupied by Allied power till :

fecia faeg g & T1® SO 9T B 29 (Allied) ®t sifeRt (power) &1 e qE AT
(A) 1952 (B) 1950

(C) 1951 (D) 1954

(E) Question not attempted / STafd 7o

Japan gained influence in China by seizing the concessionary areas of which European
power during World war—1?

(A) Germany (B) Britain

(C) United States of America (D) Russia

(E) Question not attempted

AH J faya-gs-l & e fem gl sf & R 89 1 wew #E 9F § g T
e ?

(A) == (B) ferem
(C) dgaa =g e (D) =&
(E) orgafd g
24 P.T.O.
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Who were the two founding members of the Chinese Communist party?
(A) Li Hazhao and Chen Buxiu (B) Li and Shou

(C) Mao Zedong and Zhou Enlai (D) Mao and Xi Ping

(E) Question not attempted

A HRYAE 98§ & HAs 95 B 47

(A) @ s=mel S =9 iRy (B) = st ots

(C) =af SiEM 3R S8 TAaR (D) =3 of it i

(E) orgaiid us

What is the meaning of Tiananmen?

(A) Desert (B) Beautiful River

(C) Glacier (D) Gate of Heavenly peace

(E} Question not attempted
feramee @ @ o &7

(A) i@ (B) g={t 7
(C) oty (D) wrifg grifa &1 &
(E) orafa wsd

Hari is 25 times as good as a workman as Kishan. Therefore, he can finish a given job

in 42 days less than Kishan can. By working together, in how many days can Hari and
Kishan finish the job?

(A) 28 days (B) 24 days

(C) 20 days (D) 16 days

(E) Question not attempted

&Y, fhor @ Z%WWW%W,a'aﬁqﬂqmaﬁﬁsmﬁ@ﬁ?mﬁw?ﬂ
Tebal & | UH WY & &k, of¢ ofT fpe™ fopaey oo o & qu &T b & 7

(A) 28 f&= (B) 24 &=
(C) 20 fm (D) 16 &=
(E) orana ued

If1+353+9+13+ ..+ x =496, find the value of X

e 1 +5+9+ 13+ .. +x =496 %, a 'x' & 9H 9 B
(A) 57 (B) 59

(C) ol (D) 63

(E) Question not attempted / JTNd 98

25 P.T.O.
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A man is draining out petrol from a large drum into a storage tank measuring
72 cm x 40 cm x 50 cm. The storage tank already has 18 L of petrol in it. When petrol
is filled up to 3/8M height of the storage tank, 5/9th part of the drum was still filled with
petrol. How much petrol was there in the drum in the beginning?

T A UF 92 TH A 72 A x 40 e« 50 . A9 A wEnw ¥ § W frew T ¥
HeTor 3% ¥ Tew @ FY 18 oieY T ¥ v wenwr 3% @ 3/8 I a% Vg W] W g, a9
Wl g9 &l 5/9 W1 Ui ¥ WU g uT gEerd § g9 H fohaer ugia a1 ?

(A) 75L (B) 78 L

(C) 81L (D) 84 L

(E) Question not attempted / Sgaid 997

Three years ago, a man's age was twice the square of his son's age. In seven years from
now, his age will be three times his son's age. Find their present ages.

(A) Man's age = 28 yrs, son's age = 4 yrs

(B) Man's age = 30 vrs, son's age = 5 vrs

(C) Man's age = 32 yrs, son's age = 6 vrs

(D) Man's age = 35 yrs, son'sage = 7 yrs

(E) Question not attempted

A aW TEW, UH AT B TH IEH 9T B U B o G G 1) 9@ F W@ 99 9w, I@H o
UG 4 Bl 39 4 dF A1 B0 IAB] aHE AWy T B |

(A) o @l 39 = 28 W, §¢ B IW = 4 WA

(B) omedl & 39 = 30 9, 9 % 39 = S 9«

(C) aneHl & 39 = 32 9id, 9 &l 35 = 6 9|

(D) oreHt @ 39 = 35 |, 9 B 3W = 7 "9

(Ey argaRd us

Ajay and Amit move from points A to B, 33 km apart, in a straight path at speeds of
5 kmph and 6 kmph. respectively. Amit reaches point B, turns back immediately and as
he is walking back to point A, meets Ajay at point C. Find the distance from A to C.

(A) 22 km (B) 25 km

(C) 28 km (D) 30 km

(E) Question not attempted

e Sl st w5 ol ufe 92 o 6 fdt wfa b2 & g @ e ol ur 33 Rl fag
A¥ B % Tad g1 A fig B 9T TgAd &, g A0@ gEa1 & i Wa & q@ fig A @y st
g Il &, g C ox oo § fraar 31 A ® C o gf s #ife)

(A) 22 feadt (B) 25 fdt
(C) 28 fesit (D) 30 foer
(B) oqafd usd
26 P.T.O.
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QQs. 86-87 : Each of these questions contains six statements followed by four sets of
combinations of three. Choose the set in which the statements are logically related.

W, F. 86-87 :39H ¥ Y® Wed W B HYUA X IHb 915 diF & HAeH & 9L 2 9NHd &1 98 9

86

87

HS-9

o a0 TR

h o a6 o

(A)
(C)
(E)

e an o

e e o

(A)
(C)
(E)

g4 s su aifds =0 § et &
Sham won a lottery.
Sham lost in a chess game.
Sham is not intelligent.
One need not be intelligent to win a lottery.

One need not be intelligent to win a chess game.
Sham plays chess.

ST A WA A

S & @ H 9MH T T

oM FREAT TEl &

dt e & fon et & gheam e weh @ B

ST W GE Siad & faw fedr w ghem g sed 8§
ST SIS @elam 21

bef (B) acd
bde (D) bdf
Question not attempted / 3T 957

Some college athletes are professionals.
No college athlete is a professional.
Some professionals are well paid.

All professionals are well paid.

All well paid persons are professionals.
No well paid person is a college athlete.

$B Bivte UHWIE UG T

&1 i Hiaw Uuie 99ET TE E

P% USTall ol =l dad fheran 1

Tl U B ST a9 fhear

Tl oy Aaq UM I @R sET ¥

Hi§ W AT IO U 9ren At diew gue T g

bef (B) abf
bdf (D) acf
Question not attempted / STRT 97

27
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Qs. 88-90 : Each of these has a question followed by two statements 1 and II. Mark the

answer as,

9. %. 88-90 :37% ¥ wO® W Th W9 I TUS W% &l HuA | ot 11 ¥ | 3T & 39 v fafea &

88

89

%0

HS-9

(A) if the guestion can be answered with the help of statement I alone,

(B) if the guestion can be answered with the help of statement Il alone,

(C) 1if both the statements [ and II are needed to answer the question, and

(D) if the guestion cannot be answered even with the help of both the statements.
(E)Y Question not attempted

(A) 3 WsT &1 FAT haw U9 | & gergdr ¥ far o wadar g,

(B) af¥ Wy &1 TOT Haw wuA 1l # "gerEen ¥ G o wwar ®,

(C) afE wed &1 Tax =¥ & T I Fo | iR 11 smasas ¥, &l

(D) =& 959 &1 3¢ qFl Bl B TEmar § o w2 f&ar W dwar g

(E) oranta ued

Mr. X takes the morning train to his office from Station A to go to Station B, and his

colleague Mr. Y joins him on the way. There are three stations C. D and E on the way

not necessarily in that sequence. What is the sequence of these stations during the journey?

I.  Mr Y boards the train at D.

II. Mr Z, who travels between C and D, has two segments of journey in common with
Mr. X, but no segment of journey common with Mr. Y,

= X ®ReW B R & f RyF A § oa srEted & fg g @ 39 wwesd ol t #

ITH gEAr Y oft 3% Wy A 9 ¥ TR ¥ 9 =W C, D ofit E ¥, e 19 f6 34w

o ) aEn & U g ReHl B BH &7

[ "= Y, D WA 9ed 2

II. dme Z, & C ofit D & 9 amn &3d &, S9a! ann & 2 @ S9F X & 91y g6 £,
ARET Ao Y F o1y amEn & e off @ 99 e g

How many people (from the group surveyed) read both newspapers ‘'Indian Express' and

'"Times of India'?

I.  Out of the total 200 readers surveyed. 100 read Indian Express, 120 read Times of
India and 50 read The Hindu.

II. Out of the total of 200 readers surveyved. 100 read Indian Express, 120 read Times
of India and 50 read neither.

(Tt aqE ® A) feay am e wwau’ ot ‘T e 3fear Wl W O Ted ¥ 7

. oo § gnfe g 200 qreml & ¥ 100 fsam vaadw ved &, 120 5= o sfean aie
50 7 &g wed 21

I Fdeaw & onfie Fa 200 wad § & 100 30 waem ved 8, 120 TBW of 3 aed
¥ ot 50 B o T wed ¥

What are the ages of the three brothers?

I.  The product of their ages is 21.

II. The sum of their ages is not divisible by 3.
AT wrgt B IE Fm Y

I 39 amg & quAwd 21 2

II. I omg &1 am 3 | faursg 78 %)

28 P.T.O.
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Kanaud is the old name of which of the following city in Haryana?
(A) Karnal (B) Kaithal

(C) Narnaul (D) Mahendergarh

(E) Question not attempted

FAE Fhemn & Frafafag § ° 6 s & que 9w g7

(A) T (B) &eaa
(C) - (D) #game
(E) argafd ues

According to Skanda Purana, how many fire pits (Agni - Kunds) were created by Brahma

for performance of yagna at Kapal-Mochan (Bilaspur)?

gﬁ'w%ﬁmﬂﬁﬂ, Fae-—Arae (femagy) F 79 6 & oo F@n 27 e siftags a9 o
?

(A) 1 (B) 2

(Cy 3 (D) 4

(E) Question not attempted / STd 957

Consider the following statements about Adi Badri.

[. It is situated to the north of Bilaspur on the foothills of the Shivaliks.

[I. The Saraswati river is believed to have originated from this place.

II. Sculpture of Shiva-Parvati and Ganesha belonging to 9t and 10! century have been
discovered from this place.

Which of the above statements is / are correct?

(A) I and II only (B) II and III only

(C) I and III only (D) I. 1I and III

(Ey Question not attempted

s 9 & A A Feafafed eyl o e w1

. 92 fa@mEqT & Sat ¥ Rrafdas & d@ed o1 fad &

1. = S 2 fo weady 7 &1 g™ g | ga am

N 58 &= 4 94 oiie 101 graredl &1 fyrg—uredl i igr 1 qfaar fel €

IUTe BUAI T W BE AU HUT wE BE

(A) & [ &t 11 (B) @waw 11 & 111

(Cy aa 1 st 111 (D) 1, IT &fiT 111 (E) orqafta wsd
Consider the following words used in ancient scriptures.

[.  Dharmashetra Il. Nardak

III. Brahmavarta IV. Brahmakshetra

Which of the above words have been used for Kurukshetra?

(A) L II and III only (B) L. 1II and IV only

(C)y TI, IIT and TV only (D) 1, 10, TIT and TV

(E) Question not attempted
bR amdt ¥ ygaa etaRiaa skl 9v REmr HwY)

| - II. -E®

1. & IV. werEs

ulE ¥ U fRE s @ wE gEers % fee fear wn &7

(A) e L. 11 o 11 (B) #aw L 11T &R IV

(C) e IL III afiX IV (D) L II, III &fT IV (E) saf@ s
29 P.T.O.

Page 29



95

Consider the following statements about Chor Gumbad at Narnaul.
[. It is called signboard of Narnaul.

II. It was built by Fateh Khan an Afgan as his tomb.

III. It is also known as Bhul-Bhullainay.

Which of the above statements is / are correct?

(A) I and II only (B) II and III only
(C) T and IIT only (D) I, IT and IIT
(E) Question not attempted

AT ® A TE & A ¥ Frafafea st ww fmn st

. 39 9d & ga-1-Ug &el A 2|

I, gmﬁz_‘fﬁ %ﬁmﬁ‘rm%ﬁm;faﬂamml

1. HA-Yo1d % A § A T A 2

SUed Bl § W BIF A/ HUA WA B

(A) aa [ &t II (B) e II afiT 111
(C)y waw I &z 111 (D) I, II afr 111

(E) orafa vsd

Qs 96-100 : Answer the questions based on the contents of the passage given below:

HS-9

Five vears ago. The Economist declared that data and not oil, is the world's most valuable
resource. A slew of analyses. interpretations and projections followed. This month, the
former deputy prime minister of the United Kingdom, made headlines with his statement
that data isn't finite and limited like oil, rather, it is like air, which can't be contained.
Many industrialists now hail data as the raw material. Data forms the bedrock on which
today's knowledge pyramid rises towards awareness, understanding and finally, wisdom,
which is essential for nuanced and effective policymaking. The World Development
Report 2021 asserts that there is a need for forging a new social contract for data which
accelerates data use and reuse to realise greater value, creates equitable access to benefits,
integrates national data systems, and finally fosters trust such that people are protected
from the harms of data misuse. We must construct new rules for this data age, and the
road ahead signals some critical but surmountable challenges. For instance, less than 20%
of low - and middle-income countries have modern data infrastructures such as colocation
data centres and direct access to cloud computing facilities. In India, public data remains
inaccessible because many government officers don't want to put data out in the public
domain. Data is also siloed across sectors. As we enter India's "techade”, data must be
accessible to all citizens. We must adopt a multisectoral approach to collecting, integrating,
and interpreting data. This will strengthen service delivery by governments at all levels.
Data should be presented in a simplified and decluttered manner to maximise the benefits.
When it comes to data governance, India offers a range of best practices which can be
emulated and advanced by other nations. The Data Governance Quality Index (DGQI})
enables government agencies to undertake a detailed self-assessment of their data-
preparedness levels. It helps ministries advance towards an optimal data-driven outcome
tracking, and data governance architecture. Even as terabytes of data flow through the
government's data pipeline involving collection, cleaning, processing. analysis, modelling
and visualisation, the pipeline is constrained with structural plaque. This plaque comes
from databases being inaccessible and siloed, and data platforms being cluttered with
complexity without any flexibility to innovate.

30 P.T.O.
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Which of the following statements are not borne out by the contents of the passage?

i.  Nowadays it costs more money for governments to acquire certain kinds of data
from other countries as compared to the cost of oil.

ii. Clearly data is a costlier resource to produce than is oil.

iii.  Wisdom for governments is in acquiring data purely as a raw material at lower costs
and convert the same into proper information to be utilised equitably for public

good.
(A) 1and u (B) i and iii
(C) ii and iii (D) i. ii and iii

(E} Question not attempted

In the context of the passage which of the following statements could be taken as the

most accurate assessment of the author's opinion about data?

(A) It forms the base of the pyramid on top of which could be placed the knowledge
or wisdom that 1s an asset to policymakers.

(B) The value of data depends on how well it is shared between countries for wider
social good.

(C) Data ofters best value when it is developed separately for different sectors as per
their individual needs.

(D) Data creation and management must be done equitably across all the countries.

(E) Question not attempted

As per the passage. handling of data by the government encompasses all the following

aspects except:

i.  Ensuring its repeated use by a wide cross-section of stakeholders to extract the
maximum benefit out of it.

il.  Using it as a tool to negotiate better oil deals with the supplier countries.

iii.  Laying down norms complying with DGQI Standards for the difterent stakeholders
to utilise the data provided by it in a controlled way. as only that would prevent data
plaque formation.

(A) 1iand ii (B) ii and iii

(C) 1 and iii (D) 1. 11 and 11

(E} Question not attempted

Which of the following options is synonymous with the word "plaque” in the context of
the passage?

(A) Failure (B) Corrupting

(C) Rusting (D) Clogging

(E) Question not attempted

Which of the following options is closest in meaning to the word "siloed” as it is used
in the passage?

(A) Lost (B) Protected

(C) Banned for use (D) Complicated

(E)} Question not attempted

3 P.T.O.
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